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Question 1
Discuss the main stages of the co-option of customary law into the legal system in

Swaziland.
(33 Marks)

Question 2
Describe the constitution and jurisdiction of the Swazi Courts and the laws that they are

authorized to apply.
(33 Marks)

Question 3

€)] What are the major distinguishing factors between marriage by civil rites and
marriage in terms of Swazi law and custom?

(16 marks)

(b) X marries Y in terms of Swazi law and custom in 1990. In 2008, X marries Z by
civil rites. Discuss the validity of the marriage between X and Y and the
validity of the later marriage between X and Z.

(17 marks)

Question 4.
The land tenure system of Swaziland is shaped by the historical events that took place
during the reign of King Mbandzeni and subsequently thereafter. Discuss.

(33 marks)



Question 5
What is the order of succession in the following situations, and what are the legal rights
for the individuals involved?
(a) X is a major spinster with 2 minor children. She dies intestate.
(7 marks)
(b) Y is a polygamist with 3 wives. The first two wives were married to him
by the dual marriage system. The last one was married by civil rites only.
X dies intestate with property held both under Swazi Nation Land and
under Private land tenure. All three wives have three children between
themselves and all the children of the last wife are still minors.
(7 marks)
(¢)  Z is married to Bongile by Civil rites in Community of Property. They
have four children who are all minors. Z has three other minor children
outside the marriage. Z dies intestate.
(7 marks)
(d) Mandlais mérried by Civil rites in ComﬁuniW of Property to Sonto. He
dies testate. He has bequeathed his entire estate to his secretary, with

whom they have had an illicit love relationship for the past 10 years.

(¢)  The deceased S dies intestate. He is not married a;nd has no issue. His
obituary only says that he leaves behind his mother and uncle.

(5 marks)



